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QUESTION 1

Which of the following passwords is the MOST secure? 

A. buzzypresto 

B. BuZZyPr3st0 

C. BuZZyPr3$t0 

D. BuZZyPresto 

Correct Answer: C 

 

QUESTION 2

Which of the following language types would MOST likely be used to display information in a web browser? 

A. Assembly 

B. Scripting 

C. Markup 

D. Compiled 

Correct Answer: C 

 

QUESTION 3

Which of the following wireless technologies has the shortest transmission distance? 

A. NFC 

B. IR 

C. Bluetooth 

D. Wi-Fi 

Correct Answer: B 

 

QUESTION 4

An end user clicks on a link from an email that redirects to a web page. Which of the following browser settings should
be enabled to reduce the threat of malicious code being executed from the web page? 

A. Cache clearing 
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B. Private browsing 

C. Pop-up blocker 

D. Script blocker 

Correct Answer: D 

 

QUESTION 5

A user wants to use a laptop outside the house and still remain connected to the Internet. Which of the following would
be the BEST choice to accomplish this task? 

A. Thunderbolt cable 

B. Bluetooth module 

C. Infrared port 

D. WLAN card 

Correct Answer: D 

 

QUESTION 6

An employee is asked to generate a report on a student information system. The employee uses spreadsheet software
and connects to a remote database to pull data for the report. Which of the following types of application architectures
did the employee use? 

A. Standalone application 

B. Client-server application 

C. Web application 

D. Cloud application 

Correct Answer: B 

 

QUESTION 7

A developer needs to write an application that checks a car\\'s engine once it initializes, and then shuts the engine off if
it does not return a specific value. Which of the following pseudocodes BEST illustrates this concept? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 

 

 

QUESTION 8

A programmer needs to specify how to store a test score entered using a web form. Which of the following would be
best to use? 

A. Variable 

B. Vector 

C. Constant 

D. Array 

Correct Answer: A 

 

QUESTION 9

Which of the following is an example of utilizing a personalized code for continuous personal access to a software
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product? 

A. Site licensing 

B. Open-source licensing 

C. Product key licensing 

D. Single-use licensing 

Correct Answer: C 

 

QUESTION 10

An end user\\'s computer has been failing to open its word processing software. An IT technician successfully solves the
problem. Which of the following best describes the technician\\'s NEXT step? 

A. Restart the computer. 

B. Contact other users. 

C. Disconnect the peripherals. 

D. Document the findings. 

Correct Answer: D 

CompTIA Troubleshooting Model 

Make sure that you know the order of the steps in CompTIA\\'s troubleshooting model: 

Identify the problem. 

Gather information. 

Duplicate the problem, if possible. 

 

QUESTION 11

A company expects to gather increasingly large amounts of information, which need to be accessed quickly by
employees. Which of the following is the MOST appropriate method to store the information? 

A. Spreadsheet 

B. Flat file 

C. Network shared folder 

D. Database 

Correct Answer: D 
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QUESTION 12

Joe, a tech-savvy teenager, has received one of the best new home Wi-Fi routers on the market. Joe\\'s parents have
entrusted Joe to set up the router. To leverage the best throughput options available for Joe\\'s devices, the router is
located in Joe\\'s bedroom. Joe\\'s parents’ devices are set to slower standards. Which of the following is being used for
Joe\\'s devices? 

A. 802.11n 2.4GHz 

B. 802.11ac 2.4GHz 

C. 802.11n 5GHz 

D. 802.11ac 5GHz 

Correct Answer: D 

 

QUESTION 13

A company purchased a software program. The EULA states that the software can be installed on as many computers
as the company wants, but only four users can be using the software at any point in time. Which of the following types of
license is this an example of? 

A. Group license 

B. Concurrent license 

C. Subscription license 

D. Open-source license 

Correct Answer: B 

 

QUESTION 14

A database administrator created the outline for a database that describes its components and how they work. Which of
the following did the database administrator create? 

A. Record 

B. Constraint 

C. Field 

D. Schema 

Correct Answer: D 

A database is an organized collection of information. The information is stored in a structured manner for easier access.
Typically, a database consists of tables of information, organized into columns and rows. Each row represents a
separate record in the database, while each column represents a single field within a record. 

The structure of the database in terms of the fields defined in each table and the relations between primary and foreign

FC0-U61 PDF Dumps | FC0-U61 Practice Test | FC0-U61 Braindumps                                6 / 7

https://www.leads4pass.com/fc0-u61.html
https://www.leads4pass.com/fc0-u61.html
https://www.leads4pass.com/fc0-u61.html


https://www.leads4pass.com/fc0-u61.html
2024 Latest leads4pass FC0-U61 PDF and VCE dumps Download

keys is referred to as the schema. 

 

QUESTION 15

A user received an account compromise notice from an online retailer. Two weeks later, the user received another
notice stating the new compromise used the credentials from the first compromise. Which of the following password
best practices MOST likely would have prevented the second compromise? 

A. Password age 

B. Password complexity 

C. Password reuse 

D. Password length 

Correct Answer: A 
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